








Name: __________________________
Graph ONE cycle of the graph from beginning to end.  SHOW ALL IMPORTANT POINTS USED TO GRAPH.  Extend the graph as needed to fit the first cycle in.

[image: image1.png]628

628




       
 
  [image: image2.png]628

628






[image: image3.wmf]1

)

3

/

1

tan(

+

=

x

y








y = -cot(2x) -1
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Y = 2 sin(1/2x) + 1






 y = -3 sin (3x + 
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Y = -cos(2x - 
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y = 2 cos (2/3 x) - 2
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 Y = -2sec (x - 
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 y = 3 sec (2x + 
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 Y = 4 csc (3x) 






y = -csc (x +
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Y =  tan (x - 
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) + 3






y = cot (2x - 
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) – 2
Graph each function.  Label enough coordinates so that your procedures are evident.
y = 2 arcsinx



y = 3arccosx



y = 4 arctan x

Y = arcsin(.5 x)


y = arccos ( x/3)


y = arctan (x – 2)


Y = arcsinx + 2


y = arccosx + 
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 y = arctanx + 
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